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OTFFAAE AZHTE WH 18,0002 «12H 216
OFFE2ZITY JINM S 7 500




2N S22
B NHES AyYs
ool PHER 23 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ORT=Esge 84 - g4 BHIGI 1,900
OEZEZ X4l 3,176
- AN AEEH S A 86,0483 x12& 1,033
—AfR e ZE ) 178,560& *12& 2,143
O72=s ZEAE S+ H& 4,640
-AMEHES 500,000& *43| 2,000
-8 MEZ 660,000& *43| 2,640
OF0U= AZAHAU X E ]| 1,500
OoBcga 292l 80,000& x12& 960
OdEE: MAATIY 0I2=2
121,000& x2& + 128 2,904
Ode=Z0lgd"A 0I8s 500,000& x12& 6,000
OPCIHY RESA MHIA OI82
825,000 *20 A= 128 19,800
OFRFUAER 20,000
02 3524t 120 120 0
OBLlEE dIAEZ 10,0008 128 120
202 04| 2,400 2,400 0
01 2LHOHI 2,400 2,400 0
OAHEI 2 0 H| 20,000& x5 x12& 1,200
OgaZEA 0l 20,000& x5 x12& 1,200
THEEES AMBEFA 6,300 6,300 0
203 PR =&H| 6,300 6,300 0
03 A =X SR =XIH| 6,300 6,300 0
OFRFEEE gR=4&4| 5,000,000& *90% 4,500
OREHE S 22F4&H 1,000,000& *90% 900
OSNS 28 HRF&Y| 1,000,000& *90% 900
SNS 29 36,150 38,575 N2,425
201 et A | 19,560 27,885 N8,325
01 AFR2t2l bl 18,080 25,280 NT,200
OSNS 28l = 22| 10,000
OSNS 28 &A1z 7,200
OSNS &8 &g Ix LA ¢
220,000& *43| 880
02 =294l 1,255 1,255 0
OSNS M8 ANIEE =2 1,255
03 & AtE H 225 1,350 N 1,125
OSNS MEHZE S3EYM0 2%
22,500& *10H *13] 225
301 dEtEX = 14,400 7,200 7,200
12 J|EtE &2 14,400 7,200 7,200




fAH: S2st22 1
B NHES AyYs
Sl RFER 2043 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSNS MEHZ= E2#s24 14,400
303 Z& 3 290 290 0
01 243 290 290 0
OXJNIEHZE 2= XA B4 290
—x 2= 100,000 =1 100
-2 50,0003 »2H 100
- & 30,0003 x3H 90
405 RHoHF S HI 1,900 3,200 A 1,300
01 AL EZFH S 1,900 3,200 A 1,300
ouxgce=za &d 24 1,900
HE2LZH(2st22 ) 135,509 127,591 7,918
el 2l 45,986 46,263 AN2TT
ol A 45,986 46,263 N2TT
101 @124 dl 45,986 46,263 AN2TT
02 JIEt& B == 45,986 46,263 AN2TT
OAMZHERHAIN MBS RH(24S) 45,986
-2 2,945,800& 123 35,350
-orastl 50,0003 *35/40%12& 525
- g Extl 155,000& *35/40* 122 1,628
- HZ A 140,000& =12 1,680
-2 10,1273 «35A1 2+« 123 4,254
— IOt AHH|
35,349,600 /12& »84%*86%*1/30%1/7x84 Al 852
j‘_l,
—samEesy
35,349,600 x40 Al 2+/35A1 2+ *84%*5% 1,697
JlE &3l 89,523 81,328 8,195
JlE&l 89,523 81,328 8,195
201 ¢4l 41,653 33,848 7,805
01 At 22l 38,793 30,988 7,805
OSMEX 20,0003 =162 A+123 3,840
OZedZegd EH € &g 2 15,149
—-SM 164, 1002 164 2,626
-2 172,400 324 18K 9,310
-&4 357,000 *9H 3,213
OAMRI1II X E =4l 1,500
ORA2EIIE+8HI 20,000& x20H «12& 4,800
OAZIAZEIS EHl 8,000 x64x20H «12& 11,520
O2=X=&4 )| dE=
32,000 128 384
OS2=R=Te 2= 600




2322
HYSHBH (22 L)
Jl2&dhl ?HA)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- =YX 20,000& x1&5x12& 240
PPN 15,000 x2E « 128 360
O=#A2AH 30N &3 s dAME S 1,000
02 33249l 2,860 2,860 0
oZEgaXe R 2,500,000& = 1CH 2,500
OX s IHA 360,000& = 1CH 360
202 04| 40,800 42,840 A 2,040
01 2LHOHI 40,800 42,840 N 2,040
OZU o bl 170,000& x20H x12& 40,800
203 PR =&lY| 6,570 3,600 2,970
01 J|22H L R=AH| 2,970 0 2,970
O2s=si=2% 3,300,000& *90% 2,970
04 ENSHLR=XH| 3,600 3,600 0
ORMN2Y Y RF=AHI(20210]6l)
300,000& x12& 3,600
405 XHaHFE S| 500 1,040 N 540
01 At = S F S HI 500 1,040 N 540
Odan P2l 500, 000& = 1CH 500




